
G54 G55 G56 G57  

 G500 
$P_GG[8]=1 

G54 
$P_GG[8]=2 

G55 
$P_GG[8]=3 

G56 
$P_GG[8]=4 

G57 
$P_GG[8]=5 

X  $P_UIFR[0,X,TR] $P_UIFR[1,X,TR] $P_UIFR[2,X,TR] $P_UIFR[3,X,TR] $P_UIFR[4,X,TR] 
Y  $P_UIFR[0,Y,TR] $P_UIFR[1,Y,TR] $P_UIFR[2,Y,TR] $P_UIFR[3,Y,TR] $P_UIFR[4,Y,TR] 
Z  $P_UIFR[0,Z,TR] $P_UIFR[1,Z,TR] $P_UIFR[2,Z,TR] $P_UIFR[3,Z,TR] $P_UIFR[4,Z,TR] 

G54 X 10 Y 20 Z 30  
$P_UIFR[1,X,TR]=10 
$P_UIFR[1,Y,TR]=20 
$P_UIFR[1,Z,TR]=30 

 
$TC_DP1[…,…]—— T D  
$TC_DP3[…,…]——  $TC_DP6[…,…]——  
$TC_DP12[…,…]——   $TC_DP15[…,…]——  
$P_TOOLNO—— T   $P_TOOL—— D  

$TC_DP6[2,1]=10
T2D2 10  

G41 G42
 

 
$TC_DP1[Tn,Dn]=    $TC_DP2[Tn,Dn]=  
$TC_DP3[Tn,Dn]= 1 X   $TC_DP4[Tn,Dn]= 2 Z  
$TC_DP6[Tn,Dn]=  

G17/G18/G19  
$P_GG[6]=1 G17  
$P_GG[6]=2 G18  
$P_GG[6]=3 G19  

/  
X $AA_IM[x]   X $AA_IW[x] 
Y $AA_IM[y]   Y $AA_IW[y] 
Z $AA_IM[z]   Z $AA_IW[z] 


